9 step series, sample and surround mean grey U40 is too dark, adjust U40 to U41 wigh39.50. 9 step series, sample and surround mean Grey is U41, all samples are lighter based e @62.

adjust visual equal difference for the Tntended Grey U41 between White W and Black N adjust visual equal difference for two of 5 Steps

| UL paseXmi
1 1
e gy adjusted spacing
0% gty <=1 <=rgb*ou <=
one expenmenla\ value:
) pore 0,75, 070004, pag

surround Grey: U40 B real Gﬂmm val surround Grey: U41
yrel= 109 [0,50] / \og [eg] =1,500 based on the value
inverse gamma val

v z
=10 [al /109 050] =0,666 Lt

ieb70-5a, image 1, produce (p) equal visual difference between Black N -~ Whyjtg=@/67 ieb70-6a, image 2, produce (p) equal visual difference between two of fiveytess7

9 step series, sample and surround mean Grey is U41, all samples are lighter based @s62. 9 step series, sample and surround mean Grey is U41, all samples are lighter based @# .62

adjust visual equal dfference for four of 9 steps 9 step series based on all visual adjustrients used for output inearization
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restart with image 1

ieb70-7a, image 3, produce (p) equal visual difference between four of nine/sfepH7

ieb70-8a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all grF0%67




